SECONDARY SCHOOL EXAMINATION - 2020 (ANNUAL)

212 Model Set (SCIENCE)
[EEIE]
9 - 2 9¢ 45 e qurid : 80
Time : 2 Hrs. 45 Minutes Full Marks : 80

a1 191 : General Instructions :-

1. qerreft JATEYd U veal H B STR T |

Candidates are required to give their answers in their own words
as far as practicable.

2 <R SR TRA W RY gu sie e M ae §)
Figures in the right hand margin indicate full marks.

3, 9 U UF Bl FYdd g & fofy GRIeneRi @1 15 e &1 sifaRax
T fear T B

15 Minutes of extra time has been allotted to the candidates for

reading the questions carefully.
a. U UTH-UF G WUS| H g, WUe—3l IR Wre—4
This question paper is divided into two sections Section-A and

Section-B.

5. YUS—3 ¥ 48 IS UL B | 599 ¥ bl 40 ULl P IR <A1 T |
TAd & fog 1 3w MEiRd g1 9@ SR U dRR Y STR—IAD
A W 98 gd B B/ 3 1 F R N eR @
@ISCR /TR QT /=fS /ARG lfa BT IR GRABT H GAWT HRAT
HAT &, AT UROTH MR 81T |

In section-A, there are 48 objective type questions; out of which

any 40 questions are to be answered (Each questions carries 1

marks). Darken the circle with blue/black ball pen against the
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correct option on OMR Answer sheet provided to you. Do not use
whitener/Liquid/Blade/Nail etc on OMR-sheet; otherwise the result
will be invalid.

GUs—d H 22 Y SINIY U & | 599 8 Uy Wfe—Ara &, 7 g
AR O & U9 7 U Silg 959 & 2| s fawy (difde—res,
AR WA Ud Sid fas™) 9 aR—aR gl &1 SR o1 8| (IS B
forw 2 3fe MuiRT 1), 37@ IfRad s Wvs # 6 <TE ITRIT U9 oA
U g, fH 9 Q1 U Hifds a ¥, |7 U ERE IRA ¥ 3R §
ged Siig I | 2| 4ifds oIy @& <" TR U & foly 6 3,
RATE g Silg fag= & forg di= sfe MgiRd &1 uxde fawg
(HIfrr—3R=, I AR Ud Siig fAsi™)  Uh—Ud U9d &l IR AT
arfarsd 2 |

In section-B, there are 22 short answer type questions. Out of

these, eight questions are from Physics, seven questions are from
Chemistry and seven questions are from Biology. Four questions
are to be answered from each subject (Physics, Chemistry and
Biology). Each questions carries 2 marks. Apart from this, there
are 6 Long Answer type questions : Two questions each from
Physics, Chemistry and Biology. Long Answer type question from
Physics carries 6 marks and from Chemistry and Biology carries 5
marks each. Answer of one question each from Physics,

Chemistry and Biology is compulsory.

T ) YR & gelagid IUBIVT BT YANT Yoiadr afeid = |

Use of any electronic appliances is strictly prohibited.
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8. Gue—3f H 48 H U fHgl 40 Ul &1 IR <1 & | Ifa Py uxiemeii 40
A 3® YAl BT IR <dl © ol YAH 40 U & IR DI B HoAlb
BT |
In section-A, any 40 questions are to be answered out of 48
questions. If a candidate answers more than 40 questions, then

answers of first 40 questions will be evaluated only.

¥Yus—3I / Section A

axdfss 939 / Objective Type Question

U GAT 1 W 48 Tb dS U B $H 9 fhEl 40 YT Pl IR oAl © |
U6 & A IR fadwen Ry W € RFH 9 Ue 92 21 U9 gRT g9 WY WEl
fddeu &1 OMR-%e R fafed & | Ife ®Is wlenedl 40 4§ b Ul &1 IR

AT § G T2H 40 Tl & IR BT & HATH BT | 40 X 1 = 40

Questions Nos 1 to 48 are of Objective Type. Answer any 40 questions.
Each question has four options out of which only one is correct. You have to
mark your selected option on the OMR-Sheet. If a candidate answers more

than 40 questions, then answers of first 40 questions will be evaluated only.

1. b1 B IR & foad g &2
A THh B. a
C. dH D. IR
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How many laws of reflection of light are there?

A. One B. Two

C. Three D. Four

g # T B BRI B Th IR0 T H fORE ydw Rl 21 T8

fopor
A. IR BT 3R Sl B. 1% ¥ g3 &<
C. Wi Frepet SRR D. wrafia 8 S

A ray of light travelling in air enters obliquely into water. The ray of

light will

A. Bend towards the normal B. move away from the normal
C. move in a straight path D. be reflected

fr=foaRad # 5 o &1 AR o dgd § ?

A ST &9 B. 3radd g

C. SOl o9 UG 3faddl ofd D. 9Is®hIhd o4

Which of the following lens is called diverging lens?
A. Convex lens B. Concave lens

C. Convex lens and concave lens D. Bifocal lens
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frr fdg &1 ardfde o Fa= A8l & Ufafes o &= & ford fJ9

Pl I oiF & A hal NE&-T AMRY?

A o & T Bled R
B. o & WIBA—gY B I g W

C. 3 R

D. o9 & Ul dbs dAT &I Bibd & 4

Where should an object be placed infront of a convex lens to get a

real image of the same size of the object?

A. At the principal focus of the lens.

B. At twice the focal length of the lens.

C. At infinity

D. Between the optical centre of the lens and its principal focus.

A 95 o 9 R 5l avq &1 ufafesg a9ar 8, 98 & —

A. it B. ufkarRer

C. gell D. gftcyca

The part of human eye at which image of an object is formed is -
A. Cornea B. Iris

C. Pupil D. Retina

el wre| & Sruaci=i® (W) & A BT ®

5
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Sini B Sinr
Sinr ' Sini
C. SinixSinr D.Sini+ Sinr

The value of refractive indix (i) of a medium is

Sin i Sinr
A. Sinr B. Sini
C.SinixSinr D.Sini+ Sinr

foe o @ emagd &1 S.|. ArFe AFfaRad | &9 © ?

A. Hicx B. ¥R

C. fAefHier D. 95 fag=

Which of the following is the S.I. unit of magnification of any lens?
A. metre B. centimetre

C. milimetre D. Unit less

ARi &1 feafedr, e & & ger & g9iar g°

A. BT BT URTE<A B. UBIT & 3fUaid

C. YT BT Yo D. WabTel T qui fdemor
Twinkling of stars are due to which phenomena of light ?
A. Reflection of light B. Refraction of light

C. Scattering of light D. Dispersion of light
o aere &1 ufeRy f=forRaa & forg wR ik a=ar g 2

A TS BT ARTS W B. AA® & AU PIC &Fhe WR

C. @el & uard &l gpfd .k D. Iudad | W)

6
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The resistance of a conductor depends upon which of the

following?

A. length of the conductor

B. Area of cross section of the conductor

C. On the nature of the material of the conductor

D. All of the above

fFr=ferRad & &9 fagq oifdd &1 S.I. w3 272
A. drc B. drc /ger

C. TR D. 3nd

Which of the following is the S.I. unit of electric power?

A. watt B. watt / hour

C. ampere D. ohm

fagq uRuer # fagq arT & Aue & foy Freafalad 4 fea gfea @
SUANT Il 87

A. AR B. dieeHey

C. 3mHIeR D. dleeriexr

Which of the following device is used to measure electric current in
a circuit?

A. Galvanometer B. Voltmeter
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12.

13.

14.

C. Ammeter D. Voltameter

ol IR & ford =falRaa # ®F a1 $od 9 272
A. ufeRIY g Ta-ie T 3ifSe 8idT § |
B. ufaRle &8 doT Toi-idh 1fde gidr 8

C. UfaRIy 31fSep qoIm TTidp HH aidl 2 |

D. uftRIy @2 Tedid QM1 & BT B |
Which of the following statement is true for a fuse wire?

A. High resistance and high melting point.
B. Low resistance and high melting point.
C. High resistance and low melting point.
D. Low resistance and low melting point.

RyriferRad garell # i gaaia e w8 87
A. drEl B. et

C. didal D. Prdlee

Which of the following substance is not a magnetic material?
A. Iron B. Nickel

C. Brass D. Cobalt

fpdl faegq aRrars! A ot aRarferer & Aiar gaara &3 o1 J4
A T BT 8
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15.

16.

B. 39 RR &I 3R M WR "edl 2|
C. 39® RR @ 3R 99 W 9T g |
D. w41 fdgeil W 99 8rar 2|

The value of magnetic field inside a current carrying long straight

solenoid.
A. is zero
B. decreases, while moving towards its ends
C. increases, while moving towards its ends.

D. is equal at all points.

fIe[d aRT & gaabig g9Ta &1 Wil fhae foar ?
A. RS B. VR
C. IR D. BRI

Who discovered the Magnetic effect of electric current?
A. Oersted B. Ampere

C. Bohr D. Faraday

/= 4 9 o9 S99ET ol SId BT SSTeNy Aol 27

A. dhel B. MR 19

C. T Hoit D. I
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17.

18.

Which of the following is not an example of a bios-mass energy

source?
A. Wood B. Gobar-gas
C. Nuclear energy D. Coal

NaQSO4 + BaC|2 —> BaSO4 + 2NaCl

Swaa faferar fFferRad § g uaR a1 272
A. I srfafar B. fefazemus srfafshar
C. e sifafepar D. faxemu= sifdfshar

NaQSO4 + BaC|2 —> BaSO4 + 2NaCl
The above reaction is an example of which of the following type?
A. Combination reaction B. Double displacement reaction

C. Decomposition reaction D. Displacement reaction

T auf & 5T &I pH A9 T BET ARy ?
A 56 B. 56 9 &4
C. 56 9 & D. 7.0

What should be the pH value of acid rain water?
A. 56 B. less than 5.6

C. more than 5.6 D.7.0

10

https://www.evidyarthi.in/



19.

20.

21.

NaHCO; 31fire &1 yafera =9 fA=feRad & @19 g 7
A. 919 BT AT B. 3fdh T @Arer
C. foRsi® ot D. Hifead Fraie

Which of the following is the common name of the compound

NaH003
A. Washing Soda B. Baking Soda
C. Bleaching Powder D. Sodium Carbonate

T BT SYAR B3 & ford 570 A foa Nufd &1 SuanT grar 27
A. Ufearife® B. VTSRS

C. Tii¥s D. Ufeufes

Which one of following types of medicine is used for treating

indigestion?
A. Antibiotic B. Analgesic
C. Antacid D. Antiseptic

Gl & TP TP AR BIS A & e BRUT Se Td q& BT AGHd

BIdT 2 | I ot fam=ferlRaa & &9 87
A. fB9Ts® 3t B. $9Hs® o
C. fafew arar D. 3ffaifeTsd 3t

An ant leaves an acid which causes pain and irritation. Which one

of the following is that acid?

11
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22.

23.

24.

A. Methanoic acid B. Ethanoic acid
C. Citric acid D. Oxalic acid
sifaoiferd el fforRad # foad drar Sirdr &7
A. THIR B. daxr

C. RR®1 D. $9ci!

Oxalic acid is found in which of the following?
A. Tomato B. Orange
C. Vinegar D. Tamarind

CaSO4.% H,O frr=forRad # foa difire &1 wamafae = 27
A, FITHRER B. <7 urehex
C. WIReX 3% Uy D. o=y

CaS0O, % H,0 is the chemical formula of which of the following?
A. Marble B. Bleaching powder

C. Plaster of Paris D. Gypsum

FfeRad # @9 W o1 A & YA UR ARl SRl H YT ST
8?
A URT B. s

C. Gomr D. e

12

https://www.evidyarthi.in/



25.

26.

27.

Which of the following metals is found in liquid state at room

temperature?
A. Mercury B. lodine
C. Sulphur D. Carbon

AGCIG @ a1 WRHATYRAT & 4 fbael amae g+ 87
A TH e B. fg—amay
C. f3—amdy D. S99 ¥ ®Is sl

How many bonds are formed between two atoms of Nirogen?

A. Single bond B. Double bond
C. Triple bond D. None of these
fr=iferRad # | 9 fagq &1 gares 2?

A BRI B. IwIge
C. e D. Tgs®

Which of the following is good conductor of electricity?
A. Diamond B. Graphite

C. lodine D. Sulphur

B & AIH TR0 DI H gelag = Bl Bol AT FrforRad 3 aar sidl
8?
A3 B. 4

C. 2 D. 1

13
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28.

29.

Which of the following is the number of electrons in the outermost
orbit of carbon?

A.3 B. 4

C. 2 D. 1
UADHIE Bl AMERI g3 FrefaRad § 9 8?

A. C Hanez B. CrHan-2

C. CiHaz, D. C,H,

Which of the following is the general formula of an alkene?
A. CHzns2 B. CrHan-2

C. C,Ha, D. CH,

T 3MMUIdd [ ol faf=1 el arel il fFe=aforiRad # @
HEAd © ?

A. GYIAIHSD AT B. o Siof
C. ufsharfors a9 g D. S | ®Ig gl
Compounds having same molecular formula but different

structures are known as which of the following?
A. Structural isomers B. Homologous series

C. Functional group D. None of these

14
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30.

31.

32.

Ascll% & <] M9 & IR dcdl & [ueH  FrefailRad 3 fddd
3T BT BT o7

A RATY] GRIT & B. WA sl &
C. URHIY] 3R b D. o9 &

According to Mendeleef periodic law, properties of elements are

the periodic function of which of the following?
A. Atomic number B. Atomic mass

C. Atomic size D. Density

MY 3 AR & ST W HfeIRad 3 &7 dged 27
A. 3rmacd B. g
C. e D. 579 & &g 7@l

The vertical columns of modern periodic table are known as which

of the following?
A. Periods B. Groups
C. Shells D. None of these

31 151 H |ig HCl wd g HNO; T srurd fr=foriRed 5 @ar gian
27
A 1:1 B.1:2

C.2:1 D.3:1

15
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33.

34.

35.

Which of the following is the ratio of conc. HCI and conc. HNOj in

Aqua regia?

A 1:1 B.1:2
C.2:1 D.3:1

W U BEad & —

A. ] B. Hoid!
C. IRoird D. Swfa |1

Green plants are called as :

A. Autotrophs B. Saprophytes

C. Parasites D. All of the above

BICI 3ifd # UIY S aTel IATHR BT &7 Hd 8 2
A. 3 B. ureH
C. 32y D. ifiexor

What is the function of Villi of small intestine?
A. Indigestion B. Digestion

C. Absorbtion D. Assimilation

wed—adh DI a1 wal BT 57
A. DIRTBT 5 ¥ B. ArgcIahivfSar H
C. Tfeeiiar 4 D. SH | &I 2l

16
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36.

37.

38.

Krebs-cycle occurs in -

A. Cytoplasm B. Mitochondria

C. Golgi body D. None of these

qreq § SHTeRd] IaT T Jifed IaIe & —
A. 3T IR B. a1 3rT
C. SIS 3lchigd D. 398 9 @l 8

The end product of anaerobic respiration in plants is
A. amino acid B. fatty acid

C. ethyl alcohol D. None of these

qrer # ST T gRag fhad gRT 811 & ?
A. SITSeH B. Teliud
C. ATd B g D. 594 9 &Is A8

In plants, conduction of water takes place by -
A. Xylem B. phloem

C.Both Aand B D. None of these

AT URae o fbad urar Sirar g 7
A fdeelt | B. A& H
C. el 3 D. faaen 3

17
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39.

40.

41.

Open circulatory system is found in -

A. Cat B. Human

C. Bird D. Butterfly

g9 I DI UIed Sodoil uared Te 87
A. faE B. oM
C. o D. wrd

Which one of these is not a plant excretory product?

A. tannin B. resin

C. latex D. starch

s B THAT o & faddsT | g9 &7

A. CO, B. CO

C. NH; D. SRjad |41

Which of these is formed by the decomposition of amino acid?
A. CO, B. CO

C. NH; D. All of the above

STH W I id: Frd Tt © ?
A TgHd B. oIk Uil
C. Wg Ul D. arRIgS el

18
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42.

43.

44.

Which one of these is an endocrine gland ?

A. liver B. salivary gland

C. sweat gland D. thyroid gland

STH W DI Bl UbTT H UgHRT BT &7

A. 3fifaoT B. ftarfer
C. uferel| D. "igcrabrsae

Which of the following is used for ripening of fruits?
A. Auxin B. Gibberllins
C. Ethylene D. Cytokinin

Sfe™ @ HH A BT I BT 87
A. e B. #gHE

C. =¥ D. <aled

Which disease is caused by the deficiency of insulin?
A. goitre B. diabetes

C. aids D. night blindness

o

< # 31l ST @ i 41 fafer 27

A. gpad B. STSIToST
C. gsi= D. 379 | ®Ig 8!

19
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45.

46.

47.

Which method of asexual reproduction occurs in yeast?

A. budding B. sporulation

C. regeneration D. None of these

a9 & fs=e &) fhar wer gy 87
A Tl o B. i #

oS o

C. 3ise # D. heifoae Aferer &

Where does process of fertilization takes place in humans?

A. Uterus B. Vagina

C. Ovary D. Fallopian tube
JMARIEA & fUdT B &g S ©°

A. Hed B. sIfa

C. dm™T® D. gee

Who is known as “Father of Genetics”?

A. Mendel B. Darwin

C. Lamark D. Haldane

SHa—H3e H Soll &I & FId DI 27?
A IS B. SuHIa

C. JqecH D. @

20
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Which is the main source of energy in biosphere?

A. Producer B. Consumer
C. Decomposer D. Sun
48, SRR @ IR AHE gD fha ol 27
A. THTD B. sIfas
C. Hed D. s ¥ ®Is 8

Who wrote the book “Origin of species”?

A. Lamarck B.Darwin

C. Mendel D. None of these

¥uvs—9q / Section-B

AY aeqfiss 939 / Non-Objective Type Questions

o ST 939 / Short Answer Type Questions

Hifded 3= / Physics

U3 AT 1 ¥ 8 Tb o SN Y | $H | el 4 Ul Bl SR T | AP B
forg 2 ofe MYiRd 7| (2x4=8)
Question Nos 1 to 8 are short answer type. Answer any 4 questions. Each

question carries 2 marks.

v Jgdel U & & SYAN Bl ford | 2

Write two uses of concave mirror.

21
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g H AT BT GBI B UH 601 o § fORed gaer el ® A 89
el gRac Bl FASIH | 2

Explain the change, if the ray of light travels from air to water.

IH o B BIbd U S B ST edr —2.0 SHeR 2 | I8 fh|

YHR BT o © ? 2
Find the focal length of a lens having power -2.0 dioptre. What

type of lens is it?
TE i T8 fenfena 8?7 awer w | 2

Planets do not twinkle, why? Explain it.

faegg fawarar @1 27 &1 S.I. 9Fe ford | 2

What is electric potential difference? Write its S.I. unit?

fae[q cre’l dor fagyq SWIRAl & AU o/@add gg o @ o a9 dx
el fsreng & @l 9 o 87 2

Why are coils of electric toasters and electric irons made of an
alloy rather than a pure metal?

fpedl fagge uRuer # orguerd @e Blar 8° =X fagd uRuel & sffawror
A g9 & ol a7 AEgrn Rl A1fgd? 2

When does an electric short circuit occur? What precaution should

be taken to avoid the overloading of domestic electric circuits?
SHAred S8 @1 9T gdr g 2 2

What are the disadvantages of fossil fuels?

22
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<" 59 939 / Long Answer Type Questions
9T T 9 F 10 Y SR Yo 2| 399 I fhdl U &7 SR | ISP & ol 6

3 iR 2| 6x1=6

Question Nos 9 to 10 are Long Answer Type question. Answer either of the

two. Each question carries 6 Marks.

9. e gfte QY fd dEd B° 39D FIT BRUT 57 39D AARA B AT BT

fera qui &Y | 6

What is long sightedness (hypermetropia)? What are its causes?

Explain the method of correcting this defect with diagram.

10.  (A) =l o9 & aag= A MU T AHSTT 27 3x2=6

(B) fo<ft sraaet o @ Bidw g1 15 9 B | fd9 & o9 & foan @
R W & g9 gRT &9 &7 o 10 99 0 W ufafds =7

(A) What is the magnification of a lens ?

(B) A concave lens has focal length of 15 cm. At what distance
should the object from the lens be placed so that it forms an image
at 10 cm from the lens?

XA I/ Chemistry

oY S 939 / Short Answer Type Questions

U AT 11 A 17 Tb Y SIRIY © | 394 A [HEl 4 U Bl SR | UAD B
ford 2 s faiRa 2| 2x4=8

23
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Question Nos 11 to 17 are short answer type. Answer any four questions.

Each question carries 2 marks.

11, SHSEU U9 SHRNYT IfAfhar &= 87 ISTERT < | 2
What are exothermic and endothermic reactions? Give examples.

12. = sfafhamsit &1 qx1 wR Agfera o | 2

(@) Na+H,O—

(b) Nx+H,—

Complete and balance the following reactions.
(c) Na+H,0O—

(d) Nx+H,—

13, dfpT AreT @ |1 STANN & ford | 2
Write two uses of baking soda.

14.  O1ddl Ud dfd @ <A1 § <81 vd Wee uered a8 e Aty | 2
Why should curd and sour substances not be kept in brass and

copper vessels?

15.  TH Sl BT < a9 H Ald BT SUINT BT 8, IR, ¥ Bl gl |
G 2
Why copper is used to make hot water tank but not steel?

16. DA S[saAgS qAT A &) gelagid fd9g de Far grfi? 2

24
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What will be the electron dot structure of carbon dioxide and

methane?

17. Ud URAN] & gelagiie A= 2, 8, 7 T | 1+1 = 2

9 @ @1 AT AT Ud Habd R § ?
An atom has electronic configuration 2, 8, 7

What is the atomic number and symbol of this element?

4" S 939 / Long Answer Type Questions
9 AT 18 TF 19 & SRIT B 379 9 fHd U &l SR | UADH & ol 5

3ip FeiRd 2 | 5x1=5

Question Nos 18 and 19 are Long Answer Type. Answer either of the two.
Each question carries 5 marks.
18.  foRSe ol & 91T SITan 27 AfAfhar &1 FHieRor fore | faksa ot
& SYANT Iadr | 5

How is bleaching powder prepared? Write the equation of the
reaction. Write the uses of bleaching powder.

19. INIIM® UMD & YR W oTqel T4 ergen # fawg iy 5
Differentiate between metals and non metal on the bases of their

chemical properties.

25
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Sfila fasi=1 / Biology

oeg] 3N 9939 / Short Answer Type Questions

U &A1 20 ¥ 26 AP o IR DIC & U © | 379 A ol 4 Ul BT IR

< U B o 2 3 fEiRa 21 2x4=8

Question Nos 20 to 26 are short answer type. Answer any 4 questions. Each

question carries 2 marks.

20. fopuqur T 87 SHRT T SUANT 87 2
What is fermentation? What are its uses?
21. Sred gy Raarfear o ArulRRl H << /Ues @i 8ldr 27 2

Why do players suffer from muscles cramp during run?

22. ATl Y Ul IiTRATST aTgd %\r H¥?

How are Red blood corpuscles are carrier of oxygen?

23. Sirares fbe wed 87 2

What do you mean by fossil?

24, IR el TiRaa & AR FRIRGT &l 9 &R fear Se ar 39 uiRd=
R T g9 TSIT? 2

What will be the effect on an ecosystem if all the carnivorous are

destroyed?

25. IS 3N SYHTGIT § T 3N 872 2

What are the differences between producers and consumers?

26

https://www.evidyarthi.in/



26. f=forRaa Sial & zaa=1 ST &1 79 ford | 2

Name the respiratory organ of the following organisms —
(@) fish

(b) earthworm

e a9 939 /Long Answer Type Questions

o AT 27 U4 28 <Y SR U 2 | 398 9 fhdl Uh &7 SR < | TP & folv
5 3 FETRT B | 5x1=5

Question Nos 27 and 28 are Long Answer Type questions. Answer either of

the two. Each question carries 5 marks.
27. A &I AMIfhd fF R | 5
Draw a well labelled diagram of nephron.

28. T PIIA qAT USIITH HT IYINT AIGRITIYdd R HRAT A1 ? 5

Why should we use coal and petroleum carefully?

27
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